

$$1) \begin{cases} \Delta v + \lambda v = 0 & \text{in } \Omega \\ v|_{\partial\Omega} = 0 \end{cases}$$

let $\lambda_1 \neq \lambda_2$ be eigenvalues then $\lambda_1 \rightarrow \varphi_1$ and $\lambda_2 \rightarrow \varphi_2$ consider

$$\begin{cases} \Delta \varphi_1 = -\lambda_1 \varphi_1 \\ \Delta \varphi_2 = -\lambda_2 \varphi_2 \end{cases} \Rightarrow \begin{cases} \varphi_2 \Delta \varphi_1 = -\lambda_1 \varphi_1 \varphi_2 \\ \varphi_1 \Delta \varphi_2 = -\lambda_2 \varphi_1 \varphi_2 \end{cases} \Rightarrow \varphi_2 \Delta \varphi_1 - \varphi_1 \Delta \varphi_2 = (\lambda_2 - \lambda_1) \varphi_1 \varphi_2$$

$$\text{then } (\lambda_2 - \lambda_1) \iint_{\Omega} \varphi_1 \varphi_2 dA = \iint_{\Omega} (\varphi_2 \Delta \varphi_1 - \varphi_1 \Delta \varphi_2) dA \underset{\text{using Id.}}{=} \int_{\partial\Omega} (\varphi_2 \nabla \varphi_1 - \varphi_1 \nabla \varphi_2) \cdot \vec{n} dS := A$$

$$\text{but } \varphi_1|_{\partial\Omega} = \varphi_2|_{\partial\Omega} = 0 \text{ so } A \equiv 0 \Rightarrow (\lambda_2 - \lambda_1) \iint_{\Omega} \varphi_1 \varphi_2 dA = 0 \text{ but } \lambda_1 \neq \lambda_2$$

$$\text{so } \iint_{\Omega} \varphi_1 \varphi_2 dA = 0$$

$$2) \begin{cases} \Delta v + \lambda v = 0 & \text{in } \Omega \\ (\nabla v \cdot \vec{n})|_{\partial\Omega} = 0 \end{cases}$$

let $\lambda_1 \neq \lambda_2$ be eigenvalues then $\lambda_1 \rightarrow \varphi_1$ and $\lambda_2 \rightarrow \varphi_2$ consider

$$\begin{cases} \Delta \varphi_1 = -\lambda_1 \varphi_1 \\ \Delta \varphi_2 = -\lambda_2 \varphi_2 \end{cases} \Rightarrow \begin{cases} \varphi_2 \Delta \varphi_1 = -\lambda_1 \varphi_1 \varphi_2 \\ \varphi_1 \Delta \varphi_2 = -\lambda_2 \varphi_1 \varphi_2 \end{cases} \Rightarrow \varphi_2 \Delta \varphi_1 - \varphi_1 \Delta \varphi_2 = (\lambda_2 - \lambda_1) \varphi_1 \varphi_2$$

$$\text{so } \iint_{\Omega} (\lambda_2 - \lambda_1) \varphi_1 \varphi_2 dA = \iint_{\Omega} (\varphi_2 \Delta \varphi_1 - \varphi_1 \Delta \varphi_2) dA \underset{\text{using Id.}}{=} \int_{\partial\Omega} (\varphi_2 \nabla \varphi_1 - \varphi_1 \nabla \varphi_2) \cdot \vec{n} dS := A$$

$$\text{but } \nabla \varphi_1 \cdot \vec{n}|_{\partial\Omega} = \nabla \varphi_2 \cdot \vec{n}|_{\partial\Omega} = 0 \text{ so } A \equiv 0 \Rightarrow (\lambda_2 - \lambda_1) \iint_{\Omega} \varphi_1 \varphi_2 dA = 0 \text{ but } \lambda_2 \neq \lambda_1$$

$$\text{so } \iint_{\Omega} \varphi_1 \varphi_2 dA = 0$$

$$3.) (x^3 + x^2) \frac{d^2 y}{dx^2} + \left(\frac{3}{16} + x^4\right) y = 0$$

new ans want Euler type eq so $x^3 \frac{d^2 y}{dx^2} \approx 0$ & $x^4 y \approx 0$

$$\Rightarrow x^2 \frac{d^2 y}{dx^2} + \frac{3}{16} y \approx 0 \quad \text{let } y = x^p \quad \text{so } y' = p x^{p-1}, \quad y'' = p(p-1) x^{p-2}$$

$$\Rightarrow p(p-1) x^p + \frac{3}{16} x^p = 0 \quad \Rightarrow \quad p(p-1) + \frac{3}{16} = 0 \quad p^2 - p + \frac{3}{16} = 0$$

$$p = \frac{1 \pm \sqrt{1 - \frac{3}{4}}}{2} = \frac{1 \pm \sqrt{\frac{1}{4}}}{2} = \frac{1 \pm \frac{1}{2}}{2} = \frac{3}{4}, \frac{1}{4}$$

$$\text{so } y \approx c_1 x^{\frac{3}{4}} + c_2 x^{\frac{1}{4}} + \dots \leftarrow \text{lower order terms}$$

$$4.) (x^4 + x^2) \frac{d^2 y}{dx^2} + (x^8 - 3x) \frac{dy}{dx} + (7 + x^5) y = 0$$

new ans want in Euler type eq so $x^4 \frac{d^2 y}{dx^2}, x^8 \frac{dy}{dx}, x^5 y \approx 0$

$$\text{so } x^2 y'' - 3x y' + 7y \approx 0 \quad \text{let } y = x^p \quad \text{so } y' = p x^{p-1}, \quad y'' = p(p-1) x^{p-2}$$

$$\Rightarrow p(p-1) - 3p + 7 = 0 \quad \Rightarrow \quad p^2 - p - 3p + 7 = 0 \quad p^2 - 4p + 7 = 0$$

$$p = \frac{4 \pm \sqrt{16 - 28}}{2} = \frac{4 \pm \sqrt{-12}}{2} = 2 \pm i\sqrt{3}$$

$$\text{so } y \approx x^2 (c_1 x^{i\sqrt{3}} + c_2 x^{-i\sqrt{3}} + \dots) = x^2 (c_1 \cos(\sqrt{3}/x) + c_2 \sin(\sqrt{3}/x) + \dots) \quad \leftarrow \text{lower order terms}$$

$$5.) \quad u_t = \kappa u_{xx} + Q(x, t) \quad \begin{cases} u(0, t) = A(t), \quad u(L, t) = B(t) \\ u(x, 0) = f(x) \end{cases} \quad \text{the associated homogeneous prob.} \quad \begin{cases} \frac{d^2 \varphi}{dx^2} + \lambda \varphi = 0 \\ \varphi(0) = \varphi(L) = 0 \end{cases} \Rightarrow \lambda_n = \left(\frac{n\pi}{L}\right)^2$$

$$\text{Specific } u(x, t) = \sum_{n=1}^{\infty} a_n(t) \varphi_n(x) \quad \text{and} \quad Q(x, t) = \sum_{n=1}^{\infty} g_n(t) \varphi_n(x) \quad \frac{d\varphi_n}{dx} = \frac{n\pi}{L} \cos\left(\frac{n\pi x}{L}\right)$$

$$\text{then } a_n(t) = \frac{\int_0^L u \varphi_n dx}{\int_0^L \varphi_n^2 dx} \quad \text{and} \quad g_n(t) = \frac{\int_0^L Q \varphi_n dx}{\int_0^L \varphi_n^2 dx}$$

$$\text{then } u_t = \sum_{n=1}^{\infty} \frac{da_n}{dt} \varphi_n \quad \text{or} \quad u_t = \kappa u_{xx} + Q \Rightarrow \sum_{n=1}^{\infty} \frac{da_n}{dt} \varphi_n = \kappa u_{xx} + Q$$

$$\Rightarrow \frac{da_n}{dt} = \frac{\kappa \int_0^L u_{xx} \varphi_n dx}{\int_0^L \varphi_n^2 dx} + \frac{\int_0^L Q \varphi_n dx}{\int_0^L \varphi_n^2 dx} = \kappa \frac{\int_0^L u_{xx} \varphi_n dx}{\int_0^L \varphi_n^2 dx} + g_n(t)$$

$$\text{why: } \int_0^L u_{xx} \varphi_n dx \stackrel{\text{integration by parts}}{=} \int_0^L u \frac{d^2 \varphi_n}{dx^2} dx + \left(u_x \varphi_n - u \frac{d\varphi_n}{dx} \right) \Big|_0^L = B(t) (-1)^n \frac{n\pi}{L} + A(t) \frac{n\pi}{L}$$

$$= -\lambda_n \int_0^L u \varphi_n dx + \frac{n\pi}{L} (B(t) (-1)^n + A(t))$$

$$\text{so } \frac{\int_0^L u_{xx} \varphi_n dx}{\int_0^L \varphi_n^2 dx} = -\lambda_n \frac{\int_0^L u \varphi_n dx}{\int_0^L \varphi_n^2 dx} + \frac{2n\pi}{L^2} (B(t) (-1)^n + A(t)) = -\lambda_n a_n(t) + D(t)$$

$$\text{so } \frac{da_n}{dt} = -\lambda_n \kappa a_n(t) + \kappa D(t) + g_n(t) = -\lambda_n \kappa a_n(t) + F(t)$$

$$\Rightarrow a_n(t) = a_n(0) e^{-\lambda_n \kappa t} + e^{-\lambda_n \kappa t} \int_0^t F(\tau) e^{\lambda_n \kappa \tau} d\tau \quad \text{w/ } a_n(0) = \frac{\int_0^L f(x) \varphi_n(x) dx}{\int_0^L \varphi_n^2(x) dx}$$

$$6.) \begin{cases} u_t = \kappa u_{xx} + Q(t, x) \\ u_x(0, t) = A(t), \quad u_x(L, t) = B(t) \\ u(x, 0) = f(x) \end{cases}$$

assoc. homogen eq.

$$\begin{cases} \frac{d^2 h}{dx^2} + \lambda h = 0 \\ \frac{dh}{dx}(0) = \frac{dh}{dx}(L) = 0 \end{cases}$$

$$\Rightarrow \lambda_n = \left(\frac{n\pi}{L}\right)^2 \\ \varphi_n(x) = \cos\left(\frac{n\pi x}{L}\right) \\ \frac{d\varphi_n}{dx} = -\frac{n\pi}{L} \sin\left(\frac{n\pi x}{L}\right)$$

$$\text{superpose } u(x, t) = \sum_{n=0}^{\infty} a_n(t) \varphi_n(x) \quad \text{und} \quad Q(t, x) = \sum_{n=0}^{\infty} g_n(t) \varphi_n(x)$$

$$\text{Kann } a_n(t) = \frac{\int_0^L u \varphi_n dx}{\int_0^L \varphi_n^2 dx}, \quad g_n(t) = \frac{\int_0^L Q \varphi_n dx}{\int_0^L \varphi_n^2 dx}$$

$$\text{Kann } u_t = \sum_{n=0}^{\infty} \frac{da_n}{dt} \varphi_n(x) \quad \text{oder} \quad u_t = \kappa u_{xx} + Q \Rightarrow \sum_{n=0}^{\infty} \frac{da_n}{dt} \varphi_n = \kappa u_{xx} + Q$$

$$\Rightarrow \frac{da_n}{dt} = \frac{\kappa \int_0^L u_{xx} \varphi_n dx}{\int_0^L \varphi_n^2 dx} + \frac{\int_0^L Q \varphi_n dx}{\int_0^L \varphi_n^2 dx} = \kappa \frac{\int_0^L u_{xx} \varphi_n dx}{\int_0^L \varphi_n^2 dx} + g_n(t)$$

$$\text{Stokes: } \int_0^L u_{xx} \varphi_n dx \underset{\text{Lagrange Id}}{=} \int_0^L u \frac{d^2 \varphi_n}{dx^2} dx + \left(u_x \varphi_n - u \frac{d\varphi_n}{dx} \right) \Big|_0^L = B(t)(-1)^n - A(t) + \int_0^L u \frac{d^2 \varphi_n}{dx^2} dx$$

$$= -\lambda_n \int_0^L u \varphi_n dx + B(t)(-1)^n - A(t) \quad \text{so} \quad \frac{\int_0^L u_{xx} \varphi_n dx}{\int_0^L \varphi_n^2 dx} = \frac{-\lambda_n \int_0^L u \varphi_n dx}{\int_0^L \varphi_n^2 dx} + \frac{B(t)(-1)^n - A(t)}{\int_0^L \varphi_n^2 dx}$$

$$= -\lambda_n a_n(t) + D(t) \Rightarrow \frac{da_n}{dt} = -\lambda_n \kappa a_n + \kappa D(t) + g_n(t) = -\lambda_n \kappa a_n + F(t)$$

$$\text{so } a_n(t) = a_n(0) e^{-\lambda_n \kappa t} + e^{-\lambda_n \kappa t} \int_0^t F(\tau) e^{\lambda_n \kappa \tau} d\tau \quad \text{w/ } a_n(0) = \frac{\int_0^L f(x) \varphi_n(x) dx}{\int_0^L \varphi_n^2(x) dx}$$

2.) recall $F(\omega) = \hat{f}(\omega) = \frac{1}{2\pi} \int_{\mathbb{R}} f(x) e^{i\omega x} dx$

so $\left(\frac{\partial^3 \hat{f}}{\partial \omega^3} \right) = \frac{1}{2\pi} \int_{\mathbb{R}} \frac{\partial^3 f}{\partial x^3} e^{i\omega x} dx = \frac{1}{2\pi} \left(\left. \frac{\partial^2 f}{\partial x^2} e^{i\omega x} \right|_{-\infty}^{\infty} - \frac{\partial f}{\partial x} i\omega e^{i\omega x} \right|_{-\infty}^{\infty} + \int_{\mathbb{R}} (-i\omega)^2 e^{i\omega x} f(x) dx + \int_{\mathbb{R}} (-i\omega)^3 f(x) e^{i\omega x} dx \right)$

via by parts 3 times

since $f \rightarrow 0$ and $\frac{\partial^n f}{\partial x^n} \rightarrow 0$ for all $n \geq 1$ as $x \rightarrow \pm\infty$ all the boundary terms are zero so

$$\left(\frac{\partial^3 \hat{f}}{\partial \omega^3} \right) = \frac{1}{2\pi} \int_{\mathbb{R}} (-i\omega)^3 f(x) e^{i\omega x} dx = (-i\omega)^3 \hat{f}$$

2.) compute

$$\left(\frac{\partial^7 \hat{f}}{\partial \omega^7} \right) = \frac{1}{2\pi} \int_{\mathbb{R}} \frac{\partial^7 f}{\partial x^7} e^{i\omega x} dx = \frac{1}{2\pi} \left(\left. \frac{\partial^6 f}{\partial x^6} e^{i\omega x} \right|_{-\infty}^{\infty} - \dots + (-i\omega)^6 f e^{i\omega x} \right|_{-\infty}^{\infty} + \int_{\mathbb{R}} (-i\omega)^7 f(x) e^{i\omega x} dx \right)$$

via by parts 7 times

since $f \rightarrow 0$ and $\frac{\partial^n f}{\partial x^n} \rightarrow 0$ for all $n \geq 1$ as $x \rightarrow \pm\infty$ all the boundary terms are zero so

$$\left(\frac{\partial^7 \hat{f}}{\partial \omega^7} \right) = \frac{1}{2\pi} \int_{\mathbb{R}} (-i\omega)^7 f(x) e^{i\omega x} dx = (-i\omega)^7 \hat{f}$$

$$9.) \quad u(x_1, \dots, x_n, t) = g(x_1 - b_1 t, \dots, x_n - b_n t) + \int_0^t f(x_1 + (s-t)b_1, \dots, x_n + (s-t)b_n, s) ds$$

$$\text{let } v_j = x_j - b_j t \quad \text{for } j=1, \dots, n \quad w_j = x_j + (s-t)b_j \quad \text{for } j=1, \dots, n$$

$$\text{then } \frac{\partial v_j}{\partial t} = -b_j, \quad \frac{\partial v_j}{\partial x_j} = 1 \quad \frac{\partial w_j}{\partial t} = -b_j, \quad \frac{\partial w_j}{\partial s} = b_j, \quad \frac{\partial w_j}{\partial x_j} = 1$$

$$\text{so } u = g(v_1, v_2, \dots, v_n) + \int_0^t f(w_1, \dots, w_n, s) ds$$

$$\begin{aligned} \text{so } u_t &= \frac{\partial g}{\partial v_1} \frac{\partial v_1}{\partial t} + \dots + \frac{\partial g}{\partial v_n} \frac{\partial v_n}{\partial t} + f(x_1, \dots, x_n, t) + \int_0^t \left(\frac{\partial f}{\partial w_1} \frac{\partial w_1}{\partial t} + \dots + \frac{\partial f}{\partial w_n} \frac{\partial w_n}{\partial t} \right) ds \\ &= \sum_{j=1}^n \frac{\partial g}{\partial v_j} (-b_j) + f + \int_0^t \sum_{j=1}^n \frac{\partial f}{\partial w_j} (-b_j) ds \end{aligned}$$

$$\text{recall } \nabla u = (u_{x_1}, u_{x_2}, \dots, u_{x_n}) = \left(\frac{\partial u}{\partial x_1}, \frac{\partial u}{\partial x_2}, \dots, \frac{\partial u}{\partial x_n} \right)$$

$$\begin{aligned} \text{then } \frac{\partial u}{\partial x_j} &= \frac{\partial g}{\partial v_1} \frac{\partial v_1}{\partial x_j} + \dots + \frac{\partial g}{\partial v_n} \frac{\partial v_n}{\partial x_j} + \int_0^t \left(\frac{\partial f}{\partial w_1} \frac{\partial w_1}{\partial x_j} + \dots + \frac{\partial f}{\partial w_n} \frac{\partial w_n}{\partial x_j} \right) ds \\ &= \frac{\partial g}{\partial v_j} \frac{\partial v_j}{\partial x_j} + \int_0^t \frac{\partial f}{\partial w_j} \frac{\partial w_j}{\partial x_j} ds = \frac{\partial g}{\partial v_j} + \int_0^t \frac{\partial f}{\partial w_j} ds \quad \text{all other terms are zero} \end{aligned}$$

$$\text{so } \nabla u \cdot \vec{b} = \sum_{j=1}^n \frac{\partial u}{\partial x_j} b_j = \sum_{j=1}^n \left[\frac{\partial g}{\partial v_j} b_j + \int_0^t \frac{\partial f}{\partial w_j} b_j ds \right]$$

$$\begin{aligned} \text{then } u_t + \nabla u \cdot \vec{b} &= f + \underbrace{\sum_{j=1}^n \left[\frac{\partial g}{\partial v_j} (-b_j) + \int_0^t \frac{\partial f}{\partial w_j} (-b_j) ds \right]}_{0} + \sum_{j=1}^n \left[\frac{\partial g}{\partial v_j} b_j + \int_0^t \frac{\partial f}{\partial w_j} b_j ds \right] \\ &= f \end{aligned}$$